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For the discrete data system shown below find: 

 

Where 𝑅(𝑠) =
1

𝑠
,   𝐺1(𝑠) =

𝐾

𝑠+1
  , 𝐺2(𝑠) =

𝑠

𝑠+1
   ,    𝐻1(𝑠) =

5𝑠

𝑠+1
  ,    𝐻2(𝑠) =

𝐾

𝑠
  

    K is a static gain, T = 1 sec 

1. The continues time and pulse transfer functions.                                          (8 marks) 

2. Use the Jury test to A when it is subjected to a unit step input.                                                                                                

(15 marks) 

3. Define the output sequence c(k)  for a unit step input and K=6                      ( 7 marks) 

4. The initial and final values of the system for a unit step input. and K=6        ( 6 marks) 

5. Output values c(3), c(4), c(5) of the system for a unit step input. and K=6    ( 4 marks) 
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Initial value: 𝐱(𝟎) = 𝐥𝐢𝐦
𝐳→

𝑿(𝒛)              -             Final value :   𝒙() = 𝐥𝐢𝐦
𝒛→𝟏

[(𝟏 − 𝒛−𝟏)𝑿(𝒛)] 


